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Arithmetic of Integer Exponents

(−7) − (−7) =3 (−1) + (−1) =3

(−10) − 5 =3 (−6) + (−2) =0

(−2) + 4 =3 6 + (−3) =2

(−1) + 1 =0 10 − 2 =2

1 − (−5) =3 (−1) − 8 =2

(−8) + 5 =2 (−7) − 6 =3

(−5) − (−9) =3 (−2) + (−9) =

(−6) − 3 = (−2) − (−9) =0

(−7) + (−10) =3 (−3) + (−10) =2

(−9) − 3 =3 (−3) − 1 =3
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Arithmetic of Integer Exponents

(−7) − (−7) = (−336)3 (−1) + (−1) = (−2)3

(−10) − 5 = (−1005)3 (−6) + (−2) = (−1)0

(−2) + 4 = (−4)3 6 + (−3) = 332

(−1) + 1 = 20 10 − 2 = 982

1 − (−5) = 63 (−1) − 8 = (−7)2

(−8) + 5 = 692 (−7) − 6 = (−349)3

(−5) − (−9) = (−116)3 (−2) + (−9) = (−11)

(−6) − 3 = (−9) (−2) − (−9) = 100

(−7) + (−10) = (−353)3 (−3) + (−10) = (−1)2

(−9) − 3 = (−732)3 (−3) − 1 = (−28)3
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